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And similarly regarding a fine — oap vk 1Y

OVERVIEW!

The X773 stated that the same rule that applies to 70 211 (by 117 0¥7Y) applies to
o1p 17 as well.” *"w and npown both agree’ that by monetary obligation it is
different from 1n°» and 01p. However their reasons are different.
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However concerning monetary issues it is certainly not the same as it is by 01 and

ninon issues -
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For when the (7nn) o7y testified (on Monday) that the accused stole on
Sunday, and two witnesses (the 2n°m7 2>7v) came (on Tuesday) and testified
that that the accused stole on the previous Friday, and on Sunday the 7111 27V

were with us (the o177 0>7v) and they could not have seen the accused steal on Sunday; in
such a case the P D27V -
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Certainly do not pay money (to fulfill the anr 2wx>), since at that time (on

Monday) when the 72117 277V testified, the thief was already a liable party for the
theft he committed the previous Friday —

mooin explains the difference between (0121) NMWwa1 °1°7 to me?s: T
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Even though that regarding capital crimes we do not deal with him as a =2

N2V (in the same situat%on), nevertheless concerning M °1°7, even though - ¢
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A verdict has not been issued, he is still considered a X319 92, because there is

not much doubt regarding 1% n1Ty .
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! See the ‘Overview’ (and the moon) for the previous X17°wa7 77 "0,
2 If the o171 0*7y came later and testified on*>1 1»y and the 01p was due on another day (either before or after), the
1an1T 227V pay the 01p.
3 See Wa 3"71 7"7 w1, According to *"wA that the reason the T 0°7y are 21 by mws: and 03P is because the
accused has the option of admitting and therefore not liable for in°» and 01p, it is understood that by 17n where there
is no such option, the 0°7v will not be 217 since he cannot escape his X21°17 72 status.
* Therefore the 11 07y did not testify against an innocent man, but rather they testified (truthfully) that this
accused owes money (which he does for his theft on Friday).
3 The n"27 M1 amends this to read, 725 1W°70 XY (instead of 72% unTN X9). The translation here follows the X073 of
the 11"2 (not of the X"w"mn); the idea is basically the same according to both NRD7.
6 According to the X"w7an who ([seemingly] deletes the words in the parenthesis (from 21 to m7v), the reading
should be; 117 731 97 7190 72 X2 122, (however) 121 217 177 ana. See (however) the 7"y,
" The n"a7 M amends this to read, 17n2 MY 79 (instead of 71m2 N7y 72). He seemingly does not omit the
bracketed test.
8 The n"27 M7 amends this to read "X71> 2P N2 (omitting the bracketed word [7]).
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And it is highly probable that witnesses will come and testify that he already stole

on Friday and he will be convicted (as has actually }llglppened in this case) - .
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However, regarding nyws: n17y where investigation and interrogation of the

witnesses are required, before a guilty verdict can be passed -
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Then we certainly sate that before a verdict is issued he is not considered a 92
N2 and therefore the %1 7y are 707 20.

SUMMARY

There is a much greater possibility that he will be convicted by mnnn °1°7
(therefore he is a X21°11 72), than he will be convicted by (0121) mw»s1 °1°7 where he is
not a X211 72,

THINKING IT OVER

1. There 1s seemingly a more basic difference between 0121 mwsl and M. One is
not 71N 2>°17 or 01 unless 72 rules that he is guilty; therefore as long as there is
no 17 723 he is not yet a X211 72. However regarding money, the thief owes the
money whether or not 7"°2 found him guilty, therefore he is always considered a 2
x21°1. Why did not moon explain the difference in this manner?!"'

2. Is 7pm w7 required by 01p?

? See “Thinking it over’ # 2.
' nywo1 *7v are scrutinized very intensely and if there is a discrepancy in their testimony (however slightly),
their testimony is discarded, therefore there is no certainty that the accused will be convicted; however by mann °1°7
we are more lax scrutinizing the 0>7v and there it is more likely that a conviction will be obtained,
' See X"y 375 0"wi 1193 and 72N *won XK # 133-4.
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